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2AMd: TAOIS D
M HIIE Ss28 HA(BFEES/HIIES)
ool WRE TABY T4 CERED
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
S AlDI &t 2t 37,930,257 38,094,190 A 163,933
= 488,890 488,890 0
< 124,186 124,186 0
Al 37,317,181 37,481,114 A 163,933
HII2 288 Mo (S#FES/HIIS) 37,735,112 37,900, 587 A 165,475
= 488,890 488,890 0
< 124,186 124,186 0
Al 37,122,036 37,287,511 N 165,475
MWRE TAEE =4 25,270,814 25,288,620 A 17,806
= 482,880 482,880 0
< 120,576 120,576 0
Al 24,667,358 24,685, 164 A 17,806
HIIS2Hdel 22l - 2= 122,688 140,494 A 17,806
301 et a3z 87,593 105,399 A 17,806
12JIEE43 87,593 105,399 A 17,806
O 2019¢ ABIloh 2 M= 87,593 105,399 A 17,806
o QYMEH Z2 & 62,128,000 62,128 75,934 A 13,806
o RAZN 2 & 12,000,000 12,000 16,000 A4,000
Ao Et) HES 2,451,994 2,548,994 A97,000
= 6,010 6,010 0
= 3,610 3,610 0
Al 2,442,374 2,539,374 A97,000
Hees g8 29 1,199,522 1,249,522 A50,000
101 @124l 580,852 630, 852 A 50,000
04 JI12ZtHZ22HEE = 580,852 630,852 250,000
O Mg 2= 580,852 630, 852 A 50,000
o oY Z & 340,784,000 340,784 390,784 A 50,000
Hegess g8 2l 230,065 277,065 A 47,000
401 Al HIZ 2018 230,065 277,065 A 47,000
01 A& HI 230,065 277,065 A 47,000
O MEEE 48 ZHIEX(AR) 197,065 244,065 A47,000
o ZEJI Z2E 0& 0 47,000 A 47,000
MBHIIS Meldleg &= 10,012,304 10,062,973 A 50,669
SANE HIIE MelAE 29 9,297,721 9,328,390 A 30,669
201 €24 7,589 15,589 A 8,000
01 AF2 22l bl 7,589 15,589 A 8,000
O get==&H| 2,589 10,589 A8,000
o TAE HIIS SEMeAE & SA= L
BEAIE 228 AUHHA WA HE 0¥ 0 8,000 A.8,000
308 XXM SOIA 5,307,121 5,329,790 A 22,669
MIIERES 277,331 300,000 A 22,669




2AMd: TAOIS D
M HIIE Ss28 HA(BFEES/HIIES)
Hel: MEHIIS Mg &5 (Sl & &)
SN B SR(EA) - MBAY - BES 0] &b 2 p/E-T HDE2
O 22A4E HIE M2 23
2 & 277,331,000 277,331 300,000 N 22,669
SOHE HIIS MelAE 29 633,383 653,383 A20,000
401 Al HI K 201 80,000 100,000 A20,000
01 A& HI 80,000 100,000 A20,000
O 288 MHe 2=2A4 Xot==g 238 03 0 20,000 20,000
HeREs(SADSM)(BEES/HIIS) 75,387 73,845 1,542
dXE 1,637 95 1,542
EMdXE 1,637 95 1,542
802 gt = JI EF 1,637 95 1,542
01 =2n2x3eeE= 1,605 65 1,540
O 20178 sSZHUIZ ALY AtS &N
1,540,000& =~ 14 1,540 0 1,540
02 Al - EHIEX=tEte= 32 30 2
O 20178 sSZ=HUIZ ALY AtS &N
2,000& ~ 14 2 0 2




